Hour tags below are in Calern time

HD213558

8:11:

Test of GD trheshold measurement out of coherence with opdc_gtk
GD+PD locked :

Raw dumps :

HD213558_Sun_Aug_14_23h16m49_2022.bin
hd213558GD004PD0626T_Sun_Aug_14 23h18m40_2022.bin

We lost E1 after a couple of minutes

8:22



E1 gets lost even with mircx GD tracker where as we have good flux on it

Talk to MIRC-X

Mode: () 2D o) CutRo () SumRi () SumC [] Bias Ghost v/ Boxes v/ Fit

Data: () Full Fring O Xcha O PS 1L ) PS 2L ) PS Tri(e) [FluxX O Vis FIXTr
., Cols (x) 2 Rows (y) =5 Flux =
0 *ll99 lzllo lzlls -|l0.0 :l0.0 e

min: +49.7 max: +1.49e+03 sum: 3.79e+05 mean: 632

rms:
) No fit...
Refresh (Hz): |3.0 = Start RTD Stop RTD
PING REOPEN QUIT

Log: Receive rtdflux

8:30 Pierre is looking for fringe.

8:38 => fringe ok



felescope Baseline Curve Offset Beam to Te

Talk to MIRC-X

=] (A :llo Mode: (12D« CutRo ) SumR) SumC [ Bias (| Ghost / Boxes v/ fit
Data: () Full () Fring () Xeha () PS 160) PS 2L PSTn( ) Flux () Vis () FIxTr
to O)PD ) GD ' GdErr ) PdErr () PdSnr () PdSnrMean () cmdGD ) cmdPD ) GdRef () PdRef o Lo £hx

2)29 2|39 210
Xmin Xmax Ymin Ymax  Auto Scale Y 2
J1pann - e .
- mirex_gdt gtk
Talk to MIRC-X
dc ople cart pos err DL offset step size link beams v/ 51 s2 E1 E2 w1 W2

beam, pop

1 1004 [JMAN, FT  -inn<< < |0 -0485 | > |>>| [0.002 |2 v s1 x x x x x
2 1152 [[MAN] FT Onm<< < |0 -1070 | > |>>]| [0.002 |2 v s2 [ x  x ox ox
3 1827 | MAN FT_20n<< < [0 -1995 | > |>>| [0.006 v E1 [EON SO x x x
4 2714 [MAN] FT 17ni<< < |0 -1575 >> | [0.006 |2 v e2 [ 0E] 136 x x
2 2695 [[MAN)J FT 21ni<< < |0 -1004 | > |>>| [0.006 |2 v w1 [80][208][205] (365 x
S 2855 | MAN | FT 30ni<< < (0| 0000 | > 0010 2/ Loop- |Loop+ v w2 (Hian) N6 e e EH0)

refbeampol [1|7| polforgdt ¢ *| [BRIMARE Gdt Gain 0.60/0.60 |2 SearchThr{2.(:| [IERINGEEOEKN CLEAR MATRI

ep(mas) 50 (50 |2/ DL RAMP stepg1 DL COMM s ZERO OPLE OFFSET MIRCX + MYSTIC DDL SAVE/GOTO| *

$152 S1El S1E2 SIW1 SIW2 S2El S2E2 S2W1 S2W2 E1E2 EIWl EIW2 E2Wl E2W2 WIW2
(S 0.5 32 0.0 11 0.2 1.0 10 0.6 0.3 0.2 1.0 0. 0.2 16 0.2
Close Loop | POL_OPD: X x x x x X x x X x X X x
L PHI X x X x X X x x x X x X
Dumpmoni{ MEANVIS: 134 109 160 084 075 113 081 095 106 088 117 119
DISPERSION: 17.00 57.24 5730 19.97 7490 6669 19.95 64,34 11.33 4233 3.72 39.98
RECONF SIGNAL 128.0 413 1329 168.0 116.7 172.3 360.7 119.1 2545 2878 138.7 519.0
NOISE 177239 164 210 199 162 173 187 187 0 212 192
o refVectt || Get SEND [20.0 [220.0 [3f200 [3]20.0 200 121200 [2120.0 [3]20.0 [sf200 [3]20.0 [zf20.0 21200 21200 |2
Target: HD_213558 Mag: 3.870000 RA 52 DEC: 50165697 HA: -0203 19,598 UTC: Mon Aug x
PING MIRCX PING OPLE REOPEN QuIT Recelve daq
. 0.941 R 282616
2 1.007 > 4.15326
0.928 M 343095
0.800 2 216587 sum: 2.09e+03 mean: 0174 rms
®| = 5 3 No fit
1w 0.935 - 321748 Start RTD Stop RTD
- E1W 1.033 < 3.38404 REOPEN QuIT
2W1 0.853 > 3.70483 Receive pycon
E 0.888 c 316212
w2 0.937 2 6.78095

8:48 :

Start spicaFT @GD only kgd = 0.0487

opde_rtd

| - Tolk to MIRC-X
st S| AL ——— : Mode: (12D (s CutRo () SumRi_) SumC | Bias [ Ghost v/ Boxes v/ Fit
| R = o Sn Sl LRI e ]
r/70pdcShared/src/opdcsh z vega/Sylvs I Cols () Rows {y) Flux
Photo  PD  GD  GdEr + PAEr  PaSnr  PdSniMean | cmdGD  cmdPD  GdRel  PoRel ANt EIYE Wy e e o
Src/toolbox//Co+/CShm/Src/CShm.o /hone/vega/s 9. 918 =299 39 0.0
‘ lgdk-x11-2.9 - 1pangocairo-1.0 -latk-1. -icaif 166
Xmin Xmax Ymir Ymax o Scale 77 [RURNEEREIR Lclient -pthre
||o0 211000.0 2|-1.00 2J[1.00 &
| ink beame v/ sl s2 El E2 Wl
v s1 x  x  x X

v s2 (308 x x x
v e [alEa X &
v e2 [ s x
v v [112]ass][113 [ 156]

Loop- | Loop+ ~ v NS IR NN G ST

o 1.600 ;
Mep SNR_MEANg;,
1.007 = 4.02496
50 227575
86 . 4.60304
0923 2 384112
2 41123
e 1.74089
0.941 = 2.95505
| 1.007 B 364759
0928 . 336017
' ) . 5.605 = 253759 min:  +0  max 1936103 mean 1 0323
- Event rate (H2) : 334.978 Stop RTD mw,v::i) , Server connecte QuiT T ~ S aisas e s s
: 3.9529 PING REOPEN QuIT
0.853 = 3.73498 Log Receive rtdpstrend

2 0.888 = 369713

E1l lost after 1 min



opde_rtd

Telescope Baseline Curve Offset 8eam to Tel matching e
alk to
51 = lau = | Mode: (2D (s CutRo () Sum ) SumC | |Bias | Ghost v/ Boxes  Fit
Data Full Fring Xcha Flux Vis FixTr
Photo (1 PD (1 GD () GdErr () PdErr +) PdSnr () PdSnrMean () cmdGD () cmdPD () GdRef () PdRef Loisiq
Xmin Xmax ¥min Ymax v Rt Scale ¥ 7
0.0 2111000.0 =1-1.00 211.00 -

link beams «/ S1 Ss2 El E2 W1 W2

v S1 x x x x x
v s2 [ R T
v El 0.6 0.1 x x X
v €2 [RS8 10 X x
v w1 [83][385]| os [B18) x

Loop-  Loop+ |/ 6708 o7 [316)[75

Hep 1.600

Hep SNR_MEANp,
: il Irn L
0.950 = 0.87315 3 1 | “ N_
0.986 A 450333 - N i 1“ , ' l' 'I‘ il 4

Ax T |

0.923 R 2.85845

- = N -”»’i}’.w,"t

1.007 = 34172
0.928 < 2.41056
0.809 - 0.807487 frex min +0 max sum: 3.1e+03 mean:
Event rate (Hz) : 337.802 Stop RTD. PING Server connected! QuiT

0.935 = 0.766565
Log: Receive data 1.033 & 0979373

PING REOPEN QuIT
E2w1 0.853 g 416471 Log Receive rtdpstrend
0.888 = 234494
v nai? 2l FELLER

Refresh (Hz)

3.0 Stop RTD

9:11 Start spicaFT @GD only kgd = 0.0487

9:14 : Lost

9:15 : refound

9:16 lost anew

Remark : E1 DL position: 8:38 E1@-1.995, 9:19 E1@-1.666
9:20 Realignment requested to Norm

9:44 : realignment done, fringe found

I A ! 1
- mirex_gdt_gtk sl
Talk to MIRC-X
beam, pop Idc ople cart pos err DL offset step size link beams v/ S1 S2 E1l E2 w1 w2
|S1|5 1 2165 [MAN]| FT |2nn<<| < 0173 | > [>>]| [0.002 [3] | s1 - X
s2 |4 2 2313 [mMAN][ FT |-7nn<<| < |[o| -0.926 | > |>>] [0.002 [] |~ s2 86 ] - x  x  x x
|E1|1 3 3524 [MAN]|| FT [11nf<<| < |[o| <1535 | > [>>]| [0.006 [3] |« g1 (I - X% X
|E2|6 4 3973 [MAN]| FT J1on{<<| < [|o| 2298 | > [>>]| [0.006 [3] v e2 [as|fosllEs] - x «x
wi|3 2 3202 [MAN]| FT |snm<<| < [|o| -0686 | > [>>| [0.006 3] |~ w1 (o5 [T |[108][142] X
W22 5 3049 [ MaN || FT |1nm<<| < [|0] 0000 | > [>>] [0.010 |3] Loop-|Loop+ i w2 (HOEH(EEN EEE 2T 220
LDC | refbeampol [1]2] polforgdt [c[:] (PRIMARY GdtGain 0.60[0.60 |7  SearchThri2.(:| [IERINGELOGKY CLEAR MATRIX
DLsleep(mas) 50 50 DLRAMPstepdl || |DLCOMM 3| |ZERO OPLE OFFSET{ | MIRCX + MYSTIC DDL SAVE/GOTO 2
S152 SLEl SLE2 SLW1 SIW2 S2El S2E2 S2W1 S2W2 ELE2 ELWL ELW2 E2W1 E2W2 WIW2
OPD: 18 20 -36 10 20 09 10 -04 02 0.6 13 03 -19 11 03
POL_OPD: X X X X X X X X X X X X X X X
POL_PHI: X X X X X X X X X X X X X X X
MEANVIS: 125 074 090 065 08 106 123 112 121 086 082 126 065 084 114

DISPERSION: -16.01 -48.91 50.57 -58.88 -82.86 -65.62 46.02 -39.93 -67.29 -3.96 1238 3581 -8.32 -41.12 -24.13
SIGNAL 204.9 83.3 2944 1614 2229 39.2 1934 1254 156.6 151.3 170.8 264.7 2473 2496 507.8

NOISE 213 203 203 170 212 233 203 189 221 172 158 188 175 19.7 181
GET ||SEND [20.0 [3[20.0 [3]20.0 |2]20.0 [z]20.0 [3][20.0 [:]20.0 [:]20.0 [:]20.0 [:]20.0 [:[20.0 |z]20.0 |z]20.0 [5][20.0 [:]20.0 [5]
Target: HD 213558 Mag:  3.870000  RA: 337492252 DEC: 5016 56.97 HA: -010503.054 UTC: Mon Aug 150’ X

PING MIRCX PING OPLE REOPEN QUIT Receive pyconfig

CmdGD in [0, 54um] um

9:48 closing PD@0.423, cmdPD in [-17,20] um


mailto:E1@-1.666
mailto:PD@0.423

Talk to MIRC-X
SumR () SumC

Telescape Baseline urve Off Beam to Tel matching { ‘
ALL | AL 2 [o

» (JPD () GD (I GJEf '+ PAErr () PASOr () PdSnrMean €mdPD ) GdRef ) PdRel R
200 z)1.0 2
Xmi Xmax Ymin Ymax  Auto Scale Y 7
SNR_THRESH,
SNR_THRESH ¢
et 006 & 34
L PDO042T) 5¢ o 0983 = 31
MAN | RECONF 32 : 464
fectl efve ct6 4 8

MAY Server connected! | PING | QUIT S
MAN 134
MaN
MaN
q & 203
272
| - 2.46
i g

342.745

Server connected!

Safety margin

Telescope Baseli

mircx_rtd_gtk
ffset Beam to Tel matching
Talk to MIRC-X
MR Sumc

Xcha O) PS 10

Photo (I PD

PErT €mdGD '« cmdPD () GdRef () PdRef

Ymax o Auto Scale Y 7

5o/ ReadOnly

Open Loop

RECONF

- refve t refVectd

Server connected|

Hz) : 328,683 Stap RTD PING

Receive data

Aug 14 10:26 mircx

S mirex_rtd_gtk
Baseline Curve Offset Beam to Tel matching

L s ALL . D %

M... x |vega@nov xdspica -]

2D '+ CutRo () SumRi ) Si

PS 1C

Data: O Full o Fring ) Xcha

PdSnr ) PdSnrMean mdGD '+ cmdPD () GdRef () PdRef

Ymax / Auto Scale Y 7

166667

 ReadOnly

Open Loop | Enable Fringe Re
File suf Requested

3558GD0049PDO42T, 5000

refVect2 O refvect3 ) refVectd

Server connected!

efresh (Hz

PING



Stop RTD

100 200

—ﬂ? 3.'.?..\“7 i "*“I Fﬁ%’

l 1l II Illr
|

ople cart pos err
B lman] T2

) ‘
i " im
' i k ..m'ﬂ 'ﬁ\
g =] nhn l||: |||iw

.e m.'!

0
[}

Hllw

_"Wd T

ople cart pos err DL offset i "'f

DN - el o] oan Sl & N{

- I ﬂ.ﬂlii“
II‘
\

| | I|
o ;o is Jwt... .‘.'.ua m

3.820873

_H'l"I'H—i""P!f']

D U ‘III
108934 !
335196 0 100 200
: 1.98586
nt rate (Hz): 303.187 Stop RTD PING Server connected! Quit 0.828 o 0.890461
Refresh (Hz) Stop RTD
Log Receive data E1w1 0.981 :
NG QuIT




10:05: looking for fringes with Mircx
Recording Mircx data
10:45 : moving to HD3360

11:12 : fringes found

mircx_gdt gtk

Talk to MIRC-X
DL offset step size link beams v/ S1 S2 El E2 w1l w2

beam, pop Ildc ople cart pos

s1|5 1 1748 ‘ snm[:]D o) 0592 [ > |>>] [0.002 [3][Loop-]lLocps]& 51 - x x x x x
s2]a 2 19.63 | | | -8nnDEJ@ -1.105 | > [>>| [0.002 CILoopr“Loop+J@ S2: o3l - X X X X
E1[1 3 3255 [MAN]| FT -46nE“Zj@ 2,035 | > [>>] [0.002 [3]Loop- [[Loop+|is E1 [N X oxox
E2|6 4 3883 -3nn<<| < |[o] 1620 | > [>>] [0.002 [2]Loop-[[Loop+|s E2 _‘o.z X x
‘w13 2 3636 L -1nn[:]LT_j 0| 1063 | > [>>| [0.002 \Loop |Loop+|as wa [fo3 - q‘3 04| - x
[ 25 3718 [man || FT |7nn<<| < |[o] 0000 | > [>>] [0010 [3] Loop; |Loop+|/&s w2 [[05 J[ 02 J[ 02 J[0a J[ 02 ] -
LDC | refbeampol polforgdt [c[*] - Gdt Gain 0.60(0.60 SearchThr- [ FRINGE LOCK | CLEAR MATRIX]'
DLsleep(mas) 50 DL RAMP stepd 1 | DL coMM :| |zEroorLE OFFSET:] | MIRCX + MYSTIC | | DDL SAVE/GOTO ? |

5152 S1El S1E2 SIWl SIW2 S2El S2E2 SIWI S2W2 ELE2 EIWI EIW2 E2W1 E2W2 WIW2
OPD: 395 27 113 -161 336 -181 ~-131 -254 199 457 81 381 -368 -152  36.4
POL_OPD: X X X X X X X X X X X X X X X

POL_PHI: X X X X X X X X X X X X X X X
MEAN VIS: 0.47 1.41 0.44 0.40 0.69 0.71 0.45 0.64 0.48 0.99 0.95 0.87 0.41 0.61 0.54
DISPERSION: 842.58 -101.86 726.93 1185.49 -1072.78 -532.32 678.54 -131.36 -1680.83 -628.77 535.87 -278.38 -586.85 260.78 -460.68
SIGNAL 5.7 64.5 3.6 4.9 8.7 9.1 8.9 45.5 3.0 12.8 6.3 3.6 8.9 1.6 3.0

NOISE 176 207 219 172 190 154 217 188 151 205 186 327 211 170 _ 210
GET ||SEND [20.0 [2][20.0 [:]20.0 [z][20.0 [s]20.0 [z][20.0 |:]20.0 [2]20.0 [z]20.0 [s]20.0 [:][20.0 [:]20.0 [s]20.0 [s][20.0 []20.0 [5]
Target: HD_3360 Mag: 4.250000 RA: 0914 34.26 DEC: 535348.87 HA: -014243.778 UTC: Mon Aug 15 0f X
PING MIRCX Il PING OPLE Il REOPEN Il QuIT ] Receive pyconfig

11:13 : spicaFT@GD started => fringe lost instantaneously
Struggling to find fringes.
11:25 : Norm tells us that the Ople server crashed, Norm restarts it.

11:35: cannot ping ople server from mircx_gdt_gtk, forgot to hit reopen/ reconnect on
mircx_server_gtk

11:53: Norm found back the fringes on mircx

-
L

<

0.000

= . -
— mircx_gdt_gtk (De B,
Talk to MIRC-X

Em, pop ldc ople cartposerr DLoffseii step size link beams (v S1 S2 E1 E2 w1l w2

S1|5 1 1657 [ MAN -6nn<<| < |{o] 0232 | > [[>>] [0.002 [¢]Loop-[Loops/ 51 -  x x x x 027
(52|42 1870 ?mmE]T 0] 0859 | > |>>] [0.002 [3]Loop-[Loop+|is 52 [N - x  x -089
(E1[13 3563 _FT_Jenm<<]| < |[o] 592 > [>>] [0.002 [3]Loop- JLaopv]M El -- x  x -164
E2|6 4 3883 [ FT_Jann<<| < |(o] 1176 | > [>>] [0.002 [3]oop-[oops/v B2 I - < 122
W13 2 3129 ?1nm:E@ 0711 | > [>>] [0.002 [] Loop- [Loop+|&s wa 071

<< 0 ul:]

W32 5 3001 | man 15ni [0.010 2] Loop- | Loop+| v w2 (EIGH (I 2N

LDC | refbeampol polforgdt [c[+| (PRIMARY] Gdt Gain 0.60(0.60 2 searchThr{2.(]:] _
DLsleep(mas) 50 DLRAMPstepg1 || |DLCOMM |s| |ZEROOPLEOFFSET{ | MIRCX + MYSTIC | | DDL SAVE/GOTO : |
S152 SLE1 SLE2 SIWl SIW2 S2El S2E2 S2WI1 S2W2 ELE2 EIWL ELW2 E2W1 E2W2 WIW2
| OPD: 04 05 04 05 34 03 0.0 0.2 22° 09 20 22 17 14 -5
POL_OPD: X X X X X X X X X X X X X X X
POL_PHI: X X X X x X X X X X X X X X X
MEANVIS: 149 116 138 086 112 092 111 101 095 08 08l 104 067 073 097
DISPERSION: -18.70 -60.86 72.14 -78.14 -102.45 -21.10 5893 -72.61 -75.47 9.63 1323 37.48 -7.32 -2027 -17.14
SIGNAL 3354 972 5087 1209 247.4 581 2117 873 1355 147.1 546 1361 1247 1162 1789
NOISE 176 207 219 172 190 154 217 188 _15. 1 20. 5 186 327 21 1 17.0 210
| GET |senp [20.0 [3]20.0 [:]20.0 [3][20.0 |_J 20.0 [3]20.0 [z]20.0 [z][20.0 [3[20.0 [3[20.0 [3]20.0 [:][20.0 [:]20.0 [3]20.0 U[zo o [z
Target: HD 3360 Mag: 4.250000 RA: 0914 3426 DEC: 53534887 HA: -013801006 UTC: Mon Aug 15 0f
\ PING MIRCX I PING OPLE I REOPEN I QuUIT | Receive pyconﬁg

11:55: spicaFT@GD0.048+PD0.459 started

12:01 : Below the spica-ft commands , sounds like PD loop absorbs all the drifts, GD loop too slow, it
doesn’t see the opd drifts since they are already corrected by PD loop :



Telescope
ALL
Photo PD
Xmin
|0.0

opdc_rtd B ie=]

Baseline Curve Offset Beam to Tel matching
2| [ALL - |0

GD GdErr PdErr PdSnr PdSnrMean cmdGD (s cmdPD) GdRef PdRef

Xmax Ymin Ymax v/ Auto Scale Y ?
*11000.0 +||0.30 -|/8.00 =

Event rate (Hz) : 333.906 | Stop RTD \ PING Server connected! QUIT

Receive data -



opdc_rtd ARSI (=) X

Telescope Baseline Curve Offset Beam to Tel matching
ALL < | [FALL <0

Photo PD GD GdErr PdErr PdSnr PdSnrMean (e cmdGD) cmdPD GdRef PdRef

Xmin ; Xmax ‘ Ymin _ Ymax |V Auto Scale Y ?
(0.0 //1000.0 |~|{0.30 ~18.00

i

Event rate (Hz) : 326.409 | Stop RTD | PING Server connected! QUIT
Log: Receive data -
= Jiotal GU44 e

12:05 : fiber explorer, spica-FT tracking still alive

Very low PDerr, around 200nm !:



pdeiti 0.955

Talk to MIRC-X
20« CutRo ) SumR ) SumC (] Bias [ Ghost « Boxes o Fit
Full ) Fring () Xcha () PS1EC) PS 2€(e) PS T Flux )\ FIXTH

Cols (x) Rows (y)

-I299 o 139 =100

Telescope Baseline Curve Offset Beam to Tel matching
ALL s i[aw

SNR_MEAN,;
55593

2.9943

7.71044

Photo () PD (1 GD () GdErr o PdEM () PdSnr () PdSnrMean () cmdGD | cmdPD () GdRef () PdRef

L Xmax Ymin Ymax / Auto Scale Y 7 Aoaera
0.0 2/1000.0 2i-1.00 211.00 = - 4.28134
[ 1.56868
3.11697
2.72791
216422
2.0763
232462
2577
279489
245438
365296

lset
|fety margin

‘365[ MAN FT 0 1.586
p8.83 MAN FT 0 1177
29.95 | MAN FT 1nm << | < 0/ -0.718
p8.12 MAN FT 15m << | < 0/ 0.000 > >
fampol [1):] polforgat |-/ [RIMARS Gat Gain |
8) 50 (50 2 pe DL COMM
51 S1E2 S1wl Siw2 S2El1 S2E2 |
2 0.2 04 14 0.7 min: +0 max + SUMm. 189(:”33 mean: 0157 rms:
x ox o X x o x % x| pevesnor [30 StartATD stop 1D
= 136 0% 1% 10s 109 096 109
Event rate (H2) : 342.363 Stop RTD PING Server connected! QuIT k 2012 -57.75 66.44 -82.05 -107.59 -34.99 3858 | PING REOP QuIT
Log Receive data + 756.3 2‘"9? 577'”: ZA‘B‘G_Q 3‘1’01”5 1‘0:'3.2 233} Log: — — ___Receive rtdpstrend
12:08 : 5000 events recorded hd3360GD0047PD0459T.bin
12:18 : still running, take a new dump, 10000 events
12: 25 : we lost W2, then recovered by spicaFT by its own
12: 29 : we lost S1, then E2 lost, releasing PD loop, E2 recovered
12:36 : fringe recovered with mircx :
- mircx_gdt_gtk e Bl
Talk to MIRC-X
beam, pop Idc ople cart pos err DL offset step size link beams v/ S1 S2 El E2 w1l w2
S1|5 1 14.90 ‘ MAN FT |-6nn<<| < ||0/ -0.180 > |[>> v S1 - X X X X -0.27
S2 |4 2 1711 | MAN || FT |Inm<<| < ||0] -0.855 | > |>>| v S2 X x -0.89
El |1 3 3901 [MAN]|| FT |6nm<<| < [lo] -1558 | > |>> v - X x -164
E2 |6 4 3883 [ MAN|| FT |3mn<<| < ||0] -1.198 | > |>> v E2 [19 [ 66| - x -121
w13 2 2635 [ MAN || FT |inm<<| < ||o| -0689 | > |>> v w1 (6 ][ Sl2ead] - -on
W22 5 2306 | MAN || FT [1sni<<| < |[0] -0.002 | > [>>| [0.010 [3] Loop- Loop+|t [103][ 9] 42][ 99 | 08] -
LDC | refbeampol 11‘ polforgdt 1£‘ PRIMARY Gdt Gain O.60j0.60 ;:‘ SearchThr.}Lt. FRINGE LOCK | CLEAR MATRIX
DLsleep(mas) 50 (50 || DLRAMPstepql |:| |DLCOMM : ZERO OPLE OFFSET! MIRCX + MYSTIC DDL SAVE/GOTO| 3
S1S2 S1El S1E2 S1W1 S1W2 S2E1 S2E2 S2W1 S2W2 ELE2 ELW1 ELW2 E2W1 E2W2 WIW2
OPD: 1.4 0.8 0.5 -0.8 0.6 15 0.2 2.1 0.0 -0.1 2.2 -0.8 1.2 0.9 0.5
POL_OPD: X X X X X X X X X X X X X X X
POL_PHLI: X X X X X X X X X X X X X X X
MEANVIS: 122 094 120 098 100 086 097 114 091 08 105 098 08 079 135
DISPERSION: -17.62 -40.74 59.46 -101.91 -97.21 -15.00 42.61 -76.43 -85.85 19.18 72.64 4728 -34.79 -50.22 -2.96
SIGNAL 5013 1366 427.5 1051 1959 100.3 3401 84.0 1652 1351 49.0 1358 932 168.0 20538
NOISE 176 207 219 172 190 _154 217 188 151 205 186 327 211 170 210
GET |senp|20.0 [z[20.0 []20.0 [:]20.0 [3[20.0 [:]20.0 [z]20.0 [3]20.0 []20.0 [z]20.0 [z]20.0 [:]20.0 [:]20.0 [3]20.0 [2]20.0 2]
Target: HD 3360 Mag: 4. 250000 RA: 09143426 DEC: 53534887 HA: -01 3801006 UTC: Mon Aug 15 0f X
PING MIRCX PING OPLE REOPEN QuIT Receive pyconfig

12:48: spicaFT@GDO0.046+PD0.506 started

12:53 : Test of fringe search : +200um on S2, failed to recover.
12 : 57 Switch with mircx manual fringe search, DL out of delay
END OF operation log

Comments :

e Fringe search failure : probably due to a mislead in the CHARA DL operation understanding.
Imagine we lost T1.




spicaFS performs a first move of +L sending n commands of L/n on T1 starting from the current
position (let’s call it start_pos = zero for sake of simplicity). It should actually accumulate the n
steps of L/n in its fringe search commands running through [0, L/n, 2L/n, ...., L] rather than
sending n commands of L/n.

Same thing when starting the second slope, it should accumulate the homing command (-L) to
move back to start_pos, then send the fringe search commands running through -L + [0, -L/n, -
2L/n, ...., -L] to achieve the second slew slope.

Third slope will consist in sending fringe search commands running through -2L + [0, L/n, 2L/n,
..., L], and so on....

spicaFT opdc server never restarted during the night, never crashed.



